M-6-6-1_Equations & Expressions Involving Variables and KEY

Equations and Expressions Involving Variables

Write mathematical expressions or equations in one variable to represent the following problems. Do not solve.

1. Corde, Lacey, and Heath had a rock collection with a total of 29 rocks. Corde found three times the number of rocks that Heath found. Lacey found four more rocks than Heath. Write an equation in terms of H (the number of rocks Heath has) to represent the number of rocks in the whole collection.
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2. Write an expression in terms of w (width) to show the perimeter of a rectangle where the length is four times the width.

3. The sum of the total number of runs made by the three baseball teams during the divisional playoffs was 32. The Bears scored four times as many runs as the Jays. The Penguins scored two more runs than the Jays. Write an equation in terms of J (the number of runs scored by the Jays) that represents the total number of runs scored during the divisional playoffs by all three teams.
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4. Write a problem similar to the ones above for which you could write an expression that would allow you to solve for an unknown. Then write a symbolic expression to match.
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1. Corde, Lacey, and Heath had a rock collection with a total of 29 rocks. Corde found three times the number of rocks that Heath found. Lacey found four more rocks than Heath. Write an equation in terms of H (the number of rocks Heath has) to represent the number of rocks in the whole collection.


Corde:  3 × Heath or (3 ( h)






Lacey:  4 + Heath or (4 + h)






Heath:  h                                                 

              


 Answer: (3( h) + (4 + h) + h = 29

2. Write an expression in terms of w (width) to show the perimeter of a rectangle where the length is four times the width.

length = 4 ( w




width = w
                                            
perimeter = 2l + 2w or l + l + w + w
Answer:  (4( w) + (4( w) + w + w = perimeter

3. The sum of the total number of runs made by the three baseball teams during the divisional playoffs was 32. The Bears scored four times as many runs as the Jays. The Penguins scored two more runs than the Jays. Write an equation in terms of J (the number of runs scored by the Jays) that represents the total number of runs scored during the divisional playoffs by all three teams.







Bears:  4 ( Jays or (4 ( J)






Penguins:  2 + Jays or (2 + J)






Jays: J





Answer:  (4 ( J) + (2 + J) + J = 32

4. Write a problem similar to the ones above for which you could write an expression that would allow you to solve for an unknown. Then write a symbolic expression to match.

Answers will vary. Be sure students show a relationship between a set of numbers that is logical.
